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��&�������
�����
���� ��� '�����
� (��)" ���������*�+��, 2544-25472"���������������3�(��
�
� (��&��
4$

� 3 ��*	�������������*	3�6�
$ ����"7� ����������*	3�6�
$ ���+�48!"�
����������*	3�6�
$'��9�����$

�3�6�
$ ����"7�!"�3�6�
$ ���+�48 

+���*	 ��3�6�
$ ����"7�!"�3�6�
$ ���+�48�

���$&���������*!������
�'��
���
��������	��� (single equation) �8��+�����������*	3�6�
$'��9������

� ����%����
�;63�������������
���� ���!"��#��
�$	��&���� ��������
���� ��� ��3�6�
$'��9����� 
!"�!����*	3�6�
$ ����"7� !"���*	3�6�
$ ���+�48'���6;	���+�8'���6;	���+�8 dummy 
variable (0,1) '��+�(3�6�
$ ����"7��	�8� dummy variable = 0 3�6�
$ ���+�48�	�8� dummy 
variable = 1 <���+����"���	�� ��!�8"���*	������

��������;63��2"��������=�(�
��	
 ��� 
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5.1.1 	�����������
����	 

�
�
� 5.1 ��������*�8��
�����6$;6> ���
�!���6���+�!33�&�"��$	�+?(+������������ 
�����
�+� ������2"6���*	 ��3�6�
$ ����"7� 

3�6�
$ ����"7� c LnQm LnRm LnWm
Coefficient 2.3279 0.7215 0.2124 -0.1104 
S.E. 2.4338 0.1614 0.0824 0.2083 
Prob 0.3452   0.0001* 0.0143 0.5993 
$	���: �������&���* 
R2 =0.4348, Dependent Variable: LnSm
*�	���
3�
��&��
4$����6�6$	�0.05 

2"��������+���*	 ����"7�����B�
������$	� 5.1 <����������;63��=�(�
��	
��� 
����8�!�����������
���� ����

����6���*�=�(��� �8��
�����6$;6>����8��2"2"6��
3�(�$��
��� (LnSm/LnQm) <�����)8+��)� natural logarithm <��������������*�8� ���8�!�"D�$	�=�(�	�8���%�
3�� !"��	�8��$8��
3 0.7125 ���=��������6��*��8��
�����6$;6>!�"D�$	�=�(���	�3�$	�3�
3�����
t-statistic '���	����6E�� ��� H0 :α = 1 !"� H1 :α ≠ 1 <���2"�������&���*!"(��6���*�=�(�8�
�8�$	��&���*=�(�B6��; null hypothesis $	����
3�
��&��
4$����6�6$	� 0.05 �
�!��������������
�
��� �����6� �
�$

��	
������	�8��(����8� 1 �
��

������3�6�
$ ����"7�$&������6�� ������2"6�����
��� �� �
��	��(��"� 1 ���	2"$&�+�(�(�$�������6�� �
���	���(��"� 0.7125   

������6���*�����
�����6$;6> �������#��
����2"6�$	��	2"�8��(�$������3�8�
�8�+?(�8��+���� ��!"�3�6��� (LnRm) <�����)8+��)� natural logarithm ����7��8��	�8���%�3��<���
����"(���
3$F�G	 '���8��
�����6$;6>�	�8��$8��
3 0.2124 <���2"��������*�

��;63��=�(�8������
�(�$��$���(�������6�<���+?( �8�����3	
��8����%��
�!���
�!$� �
��"8�� ��6�� �
��(��"� 1 ���	2"$&�
+�(�(�$�����+���������6�� �
��(��"� 0.2124 $	��
��&��
4$����6�6�$8��
3 0.5  !�8������6���*����
�
�����6$;6> �������#��
����2"6��
��8�=�$	��	2"�8��(�$������3�8������#��
����2"6�$��
�(�$��$���(������"��!"�����
����=�(!�8 �8�+?(�8�� +���� ��!"�3�6��� (LnWm) <�����)8+��)�
 �� natural logarithm ����7��8��	�8���%�"3 !"�=�8�	�
��&��
4$����6�6=�8�������;63��2"
��������=�(��8���	�
��&��
4$	� 0.05 
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5.1.2 	�����������
����� 

�
�
���� 5.2 ��������*�8��
�����6$;6> ���
�!���6���+�!33�&�"��$	�+?(+������������ 
�����
�+� ������2"6���*	 ��3�6�
$ ���+�48 

3�6�
$ ���+�48 c LnQb LnRb LnWb
Coefficient -3.1601 0.6432 -0.1610 0.7209 

S.E. 2.9750 0.2190 0.0760 0.3505 
Prob 0.3039 0.0097* 0.0503 0.0564 

$	���: �������&���* 
R2 =0.7688, Dependent Variable: LnSb
*�	���
3�
��&��
4$����6�6$	�0.05 

2"��������+���*	3�6�
$ ���+�48 ����B�
������$	� 5.2 <����;63��=�(�
��	
���
�����������
���� ����

����6���*�����8��
�����6$;�����8��2"2"6��
3�(�$����� 
(LnSb/LnQb) <�����)8+��)� �� natural logarithm <��������������*�8� ���
�����6$;6>!�"D� $	�
=�(�	�8���%�3��!"��	�8��$8��
3 0.6432 �
�!��������������
���� ���$	���6� �
� $

��	
������	�8�
�(����8� 1 �
��

������3�6�
$ ���+�48$&������6�� ������2"6�������� �� �
��	��(��"� 1 ���	
2"$&�+�(�(�$�������6�� �
��	��(��"� 0.6432 $	����
3�
��&��
4$����6�6�$8��
3 0.05 <����8�$	��&���*
=�(�	�8��(����8� 1 !"���%�$	��
����=�(�8���%����
3$	��	�8�� (�+�"( 1 ��� �
���8���*	3�6�
$ ����"7�
�
���������	�8�$	�� (�+�"(��������
���� ���!33��$	���� �
� (constant return to scale)  !�8�����
$&�����6��*��8��
�����6$;6>!�"D�$	�=�(���	�3�$	�3�
3����� t-statistic '���	����6E�� ��� H0 :
α = 1 !"� H1 : α ≠ 1 <���2"�������&���*!"(��6���*�=�(�8��8�$	��&���*=�(����
3 null 
hypothesis $	����
3�
��&��
4$����6�6$	� 0.05 �
��

�2"��������+���*	3�6�
$ ���+�48�����6����
�����
���� ���!33��$	� (constant return to scale)  �;63���8��
��8�������6�� �
� ��2"2"6�
�$8��
3�
��8�������6�� �
� ���(�$����� 

������6���*�����
�����6$;6> �������#��
����2"6�$	��	�8��(�$����� �3�8��3�8�
�(�$��$���(�������6�<���+?( �8�����3	
��8����%��
�!���
�!$� (LnRb) !"��(�$��$���(��
����"��!"�����
����<���+?(�8�+?(�8��+���� ��!"�3�6��� (LnWb) <�����)8+��)� �� natural 
logarithm ����7��8�=�8�	�
��&��
4$����6�6=�8�������;63��2"��������=�(��8���	�
��&��
4$	� 0.05 
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5.1.3 	��������� �!"
#�$% 

��������3�6�
$'��9����� '��+?( dummy variable (DL = 0,1) �������%����
���	�3�$	�3������
�����6$;6>�	��6;	����� '��!��3�6�
$ ����"7�+�(�	�8� dummy variables = 0 
!"�3�6�
$ ���+�48+�(�	�8� dummy variables = 1 <���������!��=�(��%� 6 ��*	 <���2"��������
+���*	3�6�
$'��9����� ����B�
������$	� 4.3 5 4.8  <����;63��=�(�
��	


�
�
���� 5.3 ��������*�8��
�����6$;6> ���
�!���6���+�!33�&�"��$	�+?(+������������ 
�����
�+� ������2"6���*	 ��3�6�
$'��9�������*	$	� 1 

c LnQ LnW LnR DL DL*LnQ DL*LnW DL*LnR
��*	$	� 1 LnS  =  α0+α1LnQ+ β1LnW+ β2LnR + γ0DL+  V 

Coefficient 0.2826 0.7357 0.1631 0.0547 -0.0459 - - - 
S.E. 1.5738 0.1437 0.2103 0.0636 0.3479 - - - 
Prob 0.8581 0.000* 0.4415 0.3939 0.8955 - - - 

$	���: �������&���* 
R2=0.6215, Dependent Variable: LnS  
*�	���
3�
��&��
4$����6�6$	�0.05 

��*	$	� 1 �

������
3�����8��(�� DL �

�����7��8�=�8�	�
��&��
4$����6�6=�8������
�;63��2"��������=�(��8���	�
��&��
4$	� 0.05 �
��

�����;63��'��9������

� 3�6�
$$

����
 ����	�8��
��&��
4$����6�6$	��3�������8��
�����6$;�����8��2"2"6��
3�(�$����� (LnS/LnQ) 
<�����)8+��)� �� natural logarithm <��������������*�8� ���
�����6$;6>!�"D� $	�=�(�	�8���%�
3��!"��	�8��$8��
3 0.7357 ���=��������6��*��8��
�����6$;6>!�"D�$	�=�(���	�3�$	�3�
3����� 
t-statistic '���	����6E�� ��� H0 :α = 1 !"� H1 :α ≠ 1 <���2"�������&���*!"(��6���*�=�(�8�
�8�$	��&���*=�(�B6��; null hypothesis $	����
3�
��&��
4$����6�6$	� 0.05 �
�!��������������
�
��� �����6� �
�$

��	
������	�8��(����8� 1 �
��

������3�6�
$$&������6�� ������2"6�������� ��
 �
��	��(��"� 1 ���	2"$&�+�(�(�$�������6�� �
���	���(��"� 0.7357   
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�
�
���� 5.4 ��������*�8��
�����6$;6> ���
�!���6���+�!33�&�"��$	�+?(+������������ 

�����
�+� ������2"6���*	 ��3�6�
$'��9�������*	$	� 2 
c LnQ LnW LnR DL DL*LnQ DL*LnW DL*LnR

��*	$	� 2 LnS  =  α0+α1LnQ+ β1LnW+ β2LnR + γ1DL*LnQ+  V 
Coefficient 0.2845 0.7360 0.1625 0.0546 - -0.0027 - - 

S.E. 1.5854 0.1438 0.2102 0.0637 - 0.0238 - - 
Prob 0.8582 0.000* 0.4428 0.3955 - 0.9078 - - 

$	���: �������&���* 
R2 =0.6215, Dependent Variable: LnS 
*�	���
3�
��&��
4$����6�6$	�0.05 

��*	$	� 2 $&������
3�����8��(�� DL*LnQ  ����7��8�=�8�	�
��&��
4$����6�6=�8
�������;63��2"��������=�(��8���	�
��&��
4$	� 0.05 �
��

�����;63��'��9������

� 3�6�
$$

�
��� ����	�8��
��&��
4$����6�6$	��3�������8��
�����6$;�����8��2"2"6��
3�(�$����� 
(LnS/LnQ) <�����)8+��)� �� natural logarithm <��������������*�8� ���
�����6$;6>!�"D� $	�=�(
�	�8���%�3��!"��	�8��$8��
3 0.736 �
�!��������������
���� ���$	���6� �
�+�9����� ��
�������������=��������6��*��8��
�����6$;6>!�"D�$	�=�(���	�3�$	�3�
3����� t-statistic '��
�	����6E�� ��� H0 :α = 1 !"� H1 : α ≠ 1 <���2"�������&���*!"(��6���*�=�(�8��8�$	��&���*
=�(�B6��; null hypothesis $	����
3�
��&��
4$����6�6$	� 0.05 �
�!��������������
���� ���
��6� �
�$

��	
������	�8��(����8� 1 �
��

������3�6�
$$&������6�� ������2"6�������� �� �
��	��(��
"� 1 ���	2"$&�+�(�(�$�������6�� �
���	���(��"� 0.736   
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�
�
���� 5.5 ��������*�8��
�����6$;6> ���
�!���6���+�!33�&�"��$	�+?(+������������ 

�����
�+� ������2"6���*	 ��3�6�
$'��9�������*	$	� 3 
c LnQ LnW LnR DL DL*LnQ DL*LnW DL*LnR

��*	$	� 3 LnS  =  α0+α1LnQ+ β1LnW+ β2LnR + γ0DL+γ1DL*LnQ+  V 
Coefficient 0.3739 0.7291 0.1645 0.0530 -0.7928 0.0512 - -

S.E. 1.6677 0.1497 0.2124 0.0648 4.1856 0.2862 - -
Prob 0.8234 0.000* 0.4419 0.4166 0.8505 0.8585 - -

$	���: �������&���* 
R2 =0.6218, Dependent Variable: LnS 
*�	���
3�
��&��
4$����6�6$	�0.05 

��*	$	� 3 $&������
3�����8��(�� DL!"�DL*LnQ  ����7��8�=�8�	�
��&��
4$����6�6
=�8�������;63��2"��������=�(��8���	�
��&��
4$	� 0.05 �
��

�����;63��'��9������

� 3�6�
$
$

���� ����	�8��
��&��
4$����6�6$	��3�������8��
�����6$;�����8��2"2"6��
3�(�$����� 
(LnS/LnQ) <�����)8+��)� �� natural logarithm <��������������*�8� ���
�����6$;6>!�"D� $	�=�(
�	�8���%�3��!"��	�8��$8��
3 0.729 ���=��������6��*��8��
�����6$;6>!�"D�$	�=�(���	�3�$	�3�
3
����� t-statistic '���	����6E�� ��� H0 : α = 1 !"� H1 : α ≠ 1 <���2"�������&���*!"(�
�6���*�=�(�8��8�$	��&���*=�(�B6��; null hypothesis $	����
3�
��&��
4$����6�6$	� 0.05 �
�!������
��������
���� �����6� �
�$

��	
������	�8��(����8� 1 �
��

������3�6�
$$&������6�� ������2"6�
������� �� �
��	��(��"� 1 ���	2"$&�+�(�(�$�������6�� �
���	���(��"� 0.729   
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�
�
���� 5.6 ��������*�8��
�����6$;6> ���
�!���6���+�!33�&�"��$	�+?(+������������ 

�����
�+� ������2"6���*	 ��3�6�
$'��9�������*	$	� 4 
c LnQ LnW LnR DL DL*LnQ DL*LnW DL*LnR

��*	$	� 4 LnS  =  α0+α1LnQ+ β1LnW+ β2LnR + γ0DL+γ2DL*LnW+γ3DL*LnR +  V 
Coefficient 0.1397 0.7185 0.1434 0.1154 -5.4963 - 0.8431 0.4675 

S.E. 1.5978 0.1424 0.2028 0.0669 6.6650 - 0.6075 0.1873 
Prob 0.9307 0.000* 0.4826 0.0406* 0.4133 - 0.1710 0.015* 

$	���: �������&���* 
R2 =0.6617, Dependent Variable: LnS 
*�	���
3�
��&��
4$����6�6$	�0.05 

��*	$	� 4  $&������
3�����8��(�� DL, DL*LnW ����7��8�=�8�	�
��&��
4$����6�6=�8
�������;63��2"��������=�(��8���	�
��&��
4$	� 0.05 �
��

�����;63��'��9������

� 3�6�
$$

�
��� ����	�8��
��&��
4$����6�6$	��3�������8��
�����6$;�����8��2"2"6��
3�(�$����� 
(LnS/LnQ) !"��8��
�����6$;�����8��2"2"6��
3�8�����3	
��8��(LnS/LnR) <�����)8+��)� �� 
natural logarithm <��������������*�8� ���
�����6$;6>!�"D� $	�=�(�	�8���%�3��!"��	�8��$8��
3 
0.7185 ���=��������6��*��8��
�����6$;6>!�"D�$	�=�(���	�3�$	�3�
3����� t-statistic '���	
����6E�� ��� H0 :α = 1 !"� H1 :α ≠ 1 <���2"�������&���*!"(��6���*�=�(�8��8�$	��&���*=�(
�B6��; null hypothesis $	����
3�
��&��
4$����6�6$	� 0.05 �
�!��������������
���� ���
��6� �
�$

��	
������	�8��(����8� 1 �
��

������3�6�
$$&������6�� ������2"6�������� �� �
��	��(��
"� 1 ���	2"$&�+�(�(�$�������6�� �
���	���(��"� 0.7185 �&���
3�8� ���#��
��(�$��$���(��
�����6� ��3�6�
$+�48$	��&���� �8� DL=1 ���;63��=�(�8� ������#��
��(�$��$���(�������6�=�(!�8
����3	
��8�� ��3�6�
$ ���+�48�
��"8����6�� �
��(��"� 1 ���	2"$&�+�(�(�$�������6�� �
��(��"� 
0.1154+0.4675 = 0.5829 $	����
3�
��&��
4$����6�6�$8��
3 0.05 
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�
�
���� 5.7 ��������*�8��
�����6$;6> ���
�!���6���+�!33�&�"��$	�+?(+������������ 

�����
�+� ������2"6���*	 ��3�6�
$'��9�������*	$	� 5 
c LnQ LnW LnR DL DL*LnQ DL*LnW DL*LnR 

��*	$	� 5 LnS = α0+α1LnQ+ β1LnW+ β2LnR + 
 γ1DL*LnQ +γ2DL*LnW+ γ3DL*LnR +  V 

Coefficient -0.0562 0.7312 0.1441 0.1165 - 0.2724 0.0376 0.3892 
S.E. 1.5960 0.1438 0.2040 0.0672 - 0.6708 0.8062 0.1741 
Prob 0.9720 0.000* 0.4826 0.049* - 0.6863 0.9630 0.0296* 

$	���: �������&���* 
R2 =0.6584, Dependent Variable: LnS 
*�	���
3�
��&��
4$����6�6$	�0.05 

��*	$	� 5  $&������
3�����8��(�� DL*LnQ, DL*LnW !"�DL*LnR ����7��8�=�8�	
�
��&��
4$����6�6=�8�������;63��2"��������=�(��8���	�
��&��
4$	� 0.05 +��8� Coefficient  �� 
DL*LnQ !"� DL*LnW �
��

�����;63��'��9������

� 3�6�
$$

���� ����	�8��
��&��
4$��
��6�6$	��3�������8��
�����6$;�����8��2"2"6��
3�(�$����� (LnS/LnQ) !"��8��
�����6$;�
����8��2"2"6��
3�8�����3	
��8�� (LnS/LnR) <�����)8+��)� �� natural logarithm <���������
�����*�8� ���
�����6$;6>!�"D� $	�=�(�	�8���%�3��!"��	�8��$8��
3 0.7312  ���=�������
�6��*��8��
�����6$;6>!�"D�$	�=�(���	�3�$	�3�
3����� t-statistic '���	����6E�� ��� H0 :α = 1
!"� H1 :α ≠ 1 <���2"�������&���*!"(��6���*�=�(�8��8�$	��&���*=�(�B6��; null hypothesis $	�
���
3�
��&��
4$����6�6$	� 0.05 �
�!��������������
���� �����6� �
�$

��	
������	�8��(����8� 1 
�
��

������3�6�
$$&������6�� ������2"6�������� �� �
��	��(��"� 1 ���	2"$&�+�(�(�$�����
��6�� �
���	���(��"� 0.7312  �&���
3�8� ���#��
��(�$��$���(�������6� ��3�6�
$+�48$	��&���� �8� 
DL=1 ���;63��=�(�8� ������#��
��(�$��$���(�������6�=�(!�8����3	
��8�� ��3�6�
$ ���+�48
�
��"8����6�� �
��(��"� 1 ���	2"$&�+�(�(�$�������6�� �
��(��"� 0.1165+0.3892 = 0.5057 $	����
3
�
��&��
4$����6�6�$8��
3 0.05 �?8��
� 
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�
�
���� 5.8 ��������*�8��
�����6$;6> ���
�!���6���+�!33�&�"��$	�+?(+������������ 

�����
�+� ������2"6���*	 ��3�6�
$'��9�������*	$	� 6 
c LnQ LnW LnR DL DL*LnQ DL*LnW DL*LnR 

��*	$	� 6 LnS=   α0+α1LnQ+β1LnW+β2LnR+ 
 γ0DL+ γ1DL*LnQ+γ2DL*LnW+γ3DL*LnR +  V 

Coefficient 0.1208 0.7285 0.1331 0.1160 -14.57 -1.0242 2.8510 0.6254 
S.E. 1.6058 0.1438 0.2043 0.0672 14.566 1.4591 2.9247 0.2932 
Prob 0.9403 0.000* 0.5178 0.0406* 0.3216 0.4858 0.3342 0.037* 

$	���: �������&���* 
R2 =0.6649, Dependent Variable: LnS 
*�	���
3�
��&��
4$����6�6$	�0.05 

��*	$	� 6  $&������
3�����8��(�� DL, DL*LnQ,  DL*LnW !"� DL*LnR  ����7�
�8�=�8�	�
��&��
4$����6�6=�8�������;63��2"��������=�(��8���	�
��&��
4$	� 0.05 +��8� 
Coefficient  �� DL, DL*LnQ !"� DL*LnW �
��

�����;63��'��9������

� 3�6�
$$

����
 ����	�8��
��&��
4$����6�6$	��3�������8��
�����6$;�����8��2"2"6��
3�(�$����� (LnS/LnQ) 
!"��8��
�����6$;�����8��2"2"6��
3�8�����3	
��8��(LnS/LnR) <�����)8+��)� �� natural logarithm 
<��������������*�8� ���
�����6$;6>!�"D� $	�=�(�	�8���%�3��!"��	�8��$8��
3 0.7285 ���=����
����6��*��8��
�����6$;6>!�"D�$	�=�(���	�3�$	�3�
3����� t-statistic '���	����6E�����	�3�$	�3 
H0 : α = 1 !"� H1 : α ≠ 1 <���2"�������&���*!"(��6���*�=�(�8��8�$	��&���*=�(�B6��; null 
hypothesis $	����
3�
��&��
4$����6�6$	� 0.05 �
�!��������������
���� �����6� �
�$

��	
������	
�8��(����8� 1 �
��

������3�6�
$$&������6�� ������2"6�������� �� �
��	��(��"� 1 ���	2"$&�+�(
�(�$�������6�� �
���	���(��"� 0.7285  �&���
3�8� ���#��
��(�$��$���(�������6� ��3�6�
$+�48
$	��&���� �8� DL=1 ���;63��=�(�8� ������#��
��(�$��$���(�������6�=�(!�8����3	
��8�� ��3�6�
$
 ���+�48�
��"8����6�� �
��(��"� 1 ���	2"$&�+�(�(�$�������6�� �
��(��"� 0.116+0.6254 = 0.7414 
$	����
3�
��&��
4$����6�6�$8��
3 0.05 
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����7�=�(�8������
��
�;� ���
�!��������
��	�8��$	��
�=�8����"(���
3������%�

��6�!"�$F�G	 ����

����$&����$���3�#4��$	�����������6� �
�=�(+������$	�=�(�� <���=�(���
���$���3�#4���
��	
 ��� 

1. $���3�#4�� Autocorrelation '�����+?(�8� Durbin-Watson statistic $	�=�(���
����6�������'������$	�3�8�$	�=�(�
3����� Durbin Watson <���=�8��6��#4�� Autocorrelation 
 2. $���3�#4�� Heteroscedasticity '������6���*� White Test $	����
3�
��&��
4
$����6�6�$8��
3 0.10 <�����6��#4��Heteroscedasticity +���*	3�6�
$'��9�������*	$	� 1 ��*	$	� 2 
!"���*	 3 !"�������$&����!�(�#4�� Heteroscedasticity $	���6� �
�+������=�('����� weight 
�(���8� 1/E* �&���
3�#4�� Heteroscedasticity +���*	�������	���!����� ���!"���*	3�6�
$
'��9�������*	$	� 4 ��*	$	� 5 !"���*	$	� 6 �

�=�8�3�#4�� Heteroscedasticity ���������+?(���
�;63���������6�=�( 

3.  $���3�#4�������
��
�;� ���
�!���6���+����
3�)� '�����+?(�8� 
Correlation Matrix <����3�8� �
�!�� LnW �	�����
��
�;��
��
3�
�!��+����
3�)��$8��
3 0.7726  
�
��

��������&���%��(���
��
�!���
��"8�����������6���*�2"�	���

������

5.2 ��+,�-�.-	/0�12��
12��
 Heteroscedasticity 
 

2"���������"
����!�(= �#4�� Heteroscedasticity !"(� +�������?6���	��� ��
3�6�
$��*	3�6�
$!����� ����

�=�8�3�#4�� Heteroscedasticity !�8������6���*�'��9�����
!"(� �#4�� Heteroscedasticity ��6�+���*	$	� 1 ��*	$	� 2 !"���*	$	� 3�&���
3��*	$	� 4 ��*	$	� 5!"�
��*	$	� 6 �

�=�8��6��#4�� Heteroscedasticity �
��

������!�(�#4��=�(!"(��������&�2"���$���3
���;63��=�(�	���

�������
��	
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�
�
���� 5.9 ��������*�8��
�����6$;6> ���
�!���6���+�!33�&�"��$	�+?(+������������ 

�����
�+� ������2"6���*	 ��3�6�
$'��9�������*	$	� 1 �"
�������!�(=  
�#4�� Heteroscedasticity !"(� 

c LnQ LnW LnR DL DL*LnQ DL*LnW DL*LnR
��*	$	� 1 LnS  =  α0+α1LnQ+ β1LnW+ β2LnR + γ0DL+  V 

Coefficient -0.4024 0.7835 0.3587 0.1406 -0.0866 - - - 
S.E. 0.7234 0.1280 0.1428 0.0479 0.1670 - - - 
Prob 0.5802 0.000* 0.0150* 0.0049* 0.6062 - - - 

$	���: �������&���* 
R2 =0.9993, Dependent Variable: LnS 
*�	���
3�
��&��
4$����6�6$	�0.05 

��*	$	� 1  $&������
3�����8��(�� DL ����7��8�=�8�	�
��&��
4$����6�6=�8������
�;63��2"��������=�(��8���	�
��&��
4$	� 0.05 +��8� Coefficient  �� DL �
��

�����;63��'��
9������

� 3�6�
$$

���� ����	�8��
��&��
4$����6�6$	��3�������8��
�����6$;�����8��2"2"6�
�
3�(�$����� (LnS/LnQ)  �8��
�����6$;�����8��2"2"6��
3�8�����3	
��8�� (LnS/LnR) !"��8��
�
����6$;�����8��2"2"6��
3�(�$��$���(������
����$	�+?(�8�+?(�8��+���� ��!"�3�6�����%��
�
!���
�!$� (LnS/LnW) +��)� �� natural logarithm  <��������������*�8� ���
�����6$;6>
!�"D� $	�=�(�	�8���%�3��!"��	�8��$8��
3 0.7835  $	����
3�
��&��
4$����6�6�$8��
3 0.05 ���=����
����6��*��8��
�����6$;6>!�"D�$	�=�(���	�3�$	�3�
3����� t-statistic '���	����6E�� ��� 
H0 : α = 1 !"� H1 : α ≠ 1 <���2"�������&���*!"(��6���*�=�(�8��8�$	��&���*=�(�B6��; null 
hypothesis $	����
3�
��&��
4$����6�6$	� 0.05 �
�!��������������
���� �����6� �
�$

��	
������	
�8��(����8� 1 �
��

������3�6�
$$&������6�� ������2"6�������� �� �
��	��(��"� 1 ���	2"$&�+�(
�(�$�������6�� �
���	���(��"� 0.7835  �&���
3�8� ���#��
��(�$��$���(�������6� ��3�6�
$'��
9�������������"8��=�(�8� �������������������;63��=�(�"8�����������#��
��(�$��$���(��
����
����=�(!�8�8�+?(�8��+���� ��!"�3�6���!"��#��
��(�$��$���(�������6�=�(!�8����3	
��8��
 ��������������6�� �
��(��"� 1 ���	2"$&�+�(�(�$�����+�!�8"���������6�� �
��(��"� 0.3587 
!"�0.1406  $	����
3�
��&��
4$����6�6�$8��
3 0.05���"&��
3
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�
�
���� 5.10 ��������*�8��
�����6$;6> ���
�!���6���+�!33�&�"��$	�+?(+������������ 

�����
�+� ������2"6���*	 ��3�6�
$'��9�������*	$	� 2 �"
�������!�(=  
�#4�� Heteroscedasticity !"(� 

c LnQ LnW LnR DL DL*LnQ DL*LnW DL*LnR 
��*	$	� 2 LnS  =  α0+α1LnQ+ β1LnW+ β2LnR + γ1DL*LnQ+  V 

Coefficient -0.8334 0.8265 0.3413 0.1382 - 0.0044 - - 
S.E. 0.7587 0.1318 0.1484 0.0514 - 0.0096 - - 
Prob 0.2768 0.000* 0.0095* 0.0253* - 0.6462 - - 

$	���: �������&���* 
R2 =0.9994, Dependent Variable: LnS 
*�	���
3�
��&��
4$����6�6$	�0.05 

��*	$	� 2  $&������
3�����8��(�� DL ����7��8�=�8�	�
��&��
4$����6�6=�8������
�;63��2"��������=�(��8���	�
��&��
4$	� 0.05 +��8� Coefficient  �� DL*LnQ �
��

�����;63��
'��9������

� 3�6�
$$

���� ����	�8��
��&��
4$����6�6$	��3�������8��
�����6$;�����8��
2"2"6��
3�(�$����� (LnS/LnQ)  �8��
�����6$;�����8��2"2"6��
3�8�����3	
��8�� (LnS/LnR) 
!"��8��
�����6$;�����8��2"2"6��
3�(�$��$���(������
����$	�+?(�8�+?(�8��+���� ��!"�
3�6�����%��
�!���
�!$� (LnS/LnW) +��)� �� natural logarithm <��������������*�8� ��
�
�����6$;6>!�"D� $	�=�(�	�8���%�3��!"��	�8��$8��
3 0.8265  �
�!��������������
���� ���$	�
��6� �
�+�9����� ������������!�8�����$&�����6��*��8��
�����6$;6>!�"D�$	�=�(���	�3�$	�3
�
3����� t-statistic '���	����6E�� ��� H0 : α = 1 !"� H1 : α ≠ 1 <���2"�������&���*!"(�
�6���*�=�(�8��8�$	��&���*=�(����
3 null hypothesis $	����
3�
��&��
4$����6�6$	� 0.05 �
��

�2"
��������+���*	3�6�
$�����6���������
���� ���!33��$	� (constant return to scale)  �;63���8�
�
��8�������6�� �
� ��2"2"6��$8��
3�
��8�������6�� �
� ���(�$����� �&���
3�8� ���#��
�
�(�$��$���(�������6� ��3�6�
$'��9�������������"8��=�(�8� �������������������;63��
=�(�"8����� ������#��
��(�$��$���(������
����!"��#��
��(�$��$���(�������6� ������������
��6�� �
��(��"� 1 ���	2"$&�+�(�(�$�����+�!�8"���������6�� �
��(��"� 0.3413 !"�0.1382  $	�
���
3�
��&��
4$����6�6�$8��
3 0.05���"&��
3
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�
�
���� 5.11 ��������*�8��
�����6$;6> ���
�!���6���+�!33�&�"��$	�+?(+������������ 

�����
�+� ������2"6���*	 ��3�6�
$'��9�������*	$	� 3 �"
�������!�(=  
�#4�� Heteroscedasticity !"(� 

c LnQ LnW LnR DL DL*LnQ DL*LnW DL*LnR 
��*	$	� 3 LnS  =  α0+α1LnQ+ β1LnW+ β2LnR + γ0DL+γ1DL*LnQ+  V 

Coefficient -0.0599 0.6924 0.4884 0.1998 -4.4296 0.2794 - - 
S.E. 0.9203 0.1695 0.1831 0.0625 2.1171 0.1362 - - 
Prob 0.9483 0.000* 0.0024* 0.0101* 0.041* 0.045* - - 

$	���: �������&���* 
R2 =0.4459, Dependent Variable: LnS 
*�	���
3�
��&��
4$����6�6$	�0.05 

��*	$	� 3  $&������
3�����8��(�� DL !"� DL*LnQ !"(�3�6�
$$

���� ����	�8��
��&��
4
$����6�6$	��3�������8��
�����6$;�����8��2"2"6��
3�(�$����� (LnS/LnQ)  �8��
�����6$;�
����8��2"2"6��
3�8�����3	
��8�� (LnS/LnR) !"��8��
�����6$;�����8��2"2"6��
3�(�$��
$���(������
����$	�+?(�8�+?(�8��+���� ��!"�3�6�����%��
�!���
�!$� (LnS/LnW) +��)� �� 
natural logarithm <��������������*�8� ���
�����6$;6>!�"D� $	�=�(�	�8���%�3��!"��	�8��$8��
3 
0.6924  ���=��������6��*��8��
�����6$;6>!�"D�$	�=�(���	�3�$	�3�
3����� t-statistic '���	
����6E�� ��� H0 :α = 1 !"� H1 :α ≠ 1 <���2"�������&���*!"(��6���*�=�(�8��8�$	��&���*=�(
�B6��; null hypothesis $	����
3�
��&��
4$����6�6$	� 0.05 �
�!��������������
���� ���
��6� �
�$

��	
������	�8��(����8� 1 �
��

������3�6�
$$&������6�� ������2"6�������� �� �
��	��(��
"� 1 ���	2"$&�+�(�(�$�������6�� �
���	���(��"� 0.6924 �&���
3�8� ���#��
��(�$��$���(��
�����6� ��3�6�
$'��9�������������"8��=�(�8� �������������������;63��=�(�"8����� �����
�#��
��(�$��$���(������
����!"��#��
��(�$��$���(�������6� ��������������6�� �
��(��"� 1 
���	2"$&�+�(�(�$�����+�!�8"���������6�� �
��(��"� 0.4884 !"�0.1998  $	����
3�
��&��
4$��
��6�6�$8��
3 0.05���"&��
3 !"�$&������
3�����8� ���#��
��(�$��$���(�������6� ��3�6�
$+�48
$	��&���� �8� DL=1 ���;63��=�(�8� ������#��
��(�$��2"6� ��3�6�
$ ���+�48�
��"8����6�� �
��(��
"� 1 ���	2"$&�+�(�(�$�������6�� �
��(��"� 0.6924+0.2794 = 0.9718 $	����
3�
��&��
4$����6�6
�$8��
3 0.05 
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5.3 ��+,�-�.-	/0�12��
5$
%+�%#��67�,���$-1�,�+�.���.���+8� 

�"
�������$���3�#4�������
��
�;� ���
�!���6���+����
3�)� '�����+?(�8� 
Correlation Matrix <����3�8� �
�!�� LnW �	�����
��
�;��
��
3�
�!��+����
3�)��$8��
3 0.7726 
�
��

��������&���%��(���
��
�!���
��"8�����������6���*�2"�	���

������ <���2"���$�"���;63��
=�(�
��	


�
�
���� 5.12 ��������*�8��
�����6$;6> ���
�!���6���+�!33�&�"��$	�+?(+������������ 
�����
�+� ������2"6���*	 ��3�6�
$ ����"7� �"
�������!�(=  
�#4�������
��
�;� ���
�!���6���+����
3�)� (�
� LnWm) !"(� 

c LnQm LnRm
Coefficient 1.6792 0.6712 0.2017 

S.E. 2.0833 0.1399 0.0792 
Prob 0.4254 0.0000* 0.0152* 

$	���: �������&���* 
R2 =0.4304, Dependent Variable: LnSm
*�	���
3�
��&��
4$����6�6$	�0.05 

2"��������+���*	 ����"7�����B�
������$	� 5.12 <����������;63��=�(�
��	
��� 
����8�!�����������
���� ����

����6���*�=�(��� �8��
�����6$;6>����8��2"2"6��
3�(�$��
��� (LnSm/LnQm) <�����)8+��)� natural logarithm <��������������*�8� ���8�!�"D�$	�=�(�	�8���%�
3�� !"��	�8��$8��
3 0.6712 �
�!��������������
���� �����6� �
�$

��	
������	�8��(����8� 1 
�
��

������3�6�
$ ����"7�$&������6�� ������2"6�������� �� �
��	��(��"� 1 ���	2"$&�+�(
�(�$�������6�� �
���	���(��"� 0.6712 <����(����8� 1 $	����
3�
��&��
4$����6�6�$8��
3 0.05 

������6���*�����
�����6$;6> �������#��
����2"6�$	��	2"�8��(�$������3�8�
�8�+?(�8��+���� ��!"�3�6��� (LnRm) <�����)8+��)� natural logarithm ����7��8��	�8���%�3��<���
����"(���
3$F�G	 '���8��
�����6$;6>�	�8��$8��
3 0.2017 <���2"��������*�

��;63��=�(�8������
�(�$��$���(�������6�<���+?( �8�����3	
��8����%��
�!���
�!$��
��"8�� ��6�� �
��(��"� 1 ���	2"$&�
+�(�(�$�����+���������6�� �
��(��"� 0.2017 $	��
��&��
4$����6�6�$8��
3 0.5 
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�
�
���� 5.13 ��������*�8��
�����6$;6> ���
�!���6���+�!33�&�"��$	�+?(+������������ 

�����
�+� ������2"6���*	 ��3�6�
$ ���+�48 �"
�������!�(=  
�#4�������
��
�;� ���
�!���6���+����
3�)� (�
� LnWb) !"(� 

c LnQb LnRb
Coefficient 0.9153 0.9860 -0.1412 

S.E. 2.4205 0.1549 0.0823 
Prob 0.7100 0.000* 0.1043 

$	���: �������&���* 
R2 =0.4304, Dependent Variable: LnSb
*�	���
3�
��&��
4$����6�6$	�0.05 

2"��������+���*	 ���+�48����B�
������$	� 5.13 <����������;63��=�(�
��	
��� 
����8�!�����������
���� ����

����6���*�=�(��� �8��
�����6$;6>����8��2"2"6��
3�(�$����� 
(LnSm/LnQm) <�����)8+��)� natural logarithm <��������������*�8� ���8�!�"D�$	�=�(�	�8���%�3�� 
!"��	�8��$8��
3 0.9860 �
�!��������������
���� �����6� �
�$

��	
������	�8��(����8� 1 �
��

������
3�6�
$ ����"7�$&������6�� ������2"6�������� �� �
��	��(��"� 1 ���	2"$&�+�(�(�$�������6�� �
�
��	���(��"� 0.9860 <���� (�+�"( 1 $	����
3�
��&��
4$����6�6�$8��
3 0.05 !���+�(��7�������� (�+�"(���
�����
���� ���!33��$	���8����� 

������6���*�����
�����6$;6> �������#��
����2"6�$	��	2"�8��(�$������3�8��8�����3	
�
�8�� (LnRm) <�����)8+��)� natural logarithm =�8�	�
��&��
4$����6�6$	� 0.5 =�8�������;63����������
=�( 
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�
�
���� 5.14 ��������*�8��
�����6$;6> ���
�!���6���+�!33�&�"��$	�+?(+������������ 

�����
�+� ������2"6���*	 ��3�6�
$'��9�������*	$	� 1 �"
�������!�(=  
�#4�������
��
�;� ���
�!���6���+����
3�)� (�
� LnW) !"(� 

c LnQ LnR DL DL*LnQ DL*LnR 
��*	$	� 1 LnS  =  α0+α1LnQ+ β1LnR + γ0DL+  V 

Coefficient -1.0649 1.2131 0.2478 0.1420 - - 
S.E. 0.9287 0.0784 0.0556 0.1601 - - 
Prob 0.2564 0.000* 0.000* 0.3786 - - 

$	���: �������&���* 
R2 =0.9999, Dependent Variable: LnS 
*�	���
3�
��&��
4$����6�6$	�0.05 

2"��������+���*	9�����;���6���*	$	� 1 ����B�
������$	� 5.14 <����������;63��
=�(�
��	
�������8�!�����������
���� ����

����6���*�=�(��� �8��
�����6$;6>����8��2"2"6��
3
�(�$����� (LnS/LnQ) <�����)8+��)� natural logarithm <��������������*�8� ���8�!�"D�$	�=�(�	�8���%�
3�� !"��	�8��$8��
3 1.2131 !����8���6� diseconomies of scale <����������;63���8��
��8�����
��6�� �
� ��2"2"6��(����8��
��8�������6�� �
� ���(�$�����$	����
3�
��&��
4$����6�6�$8��
3 0.05 
������6���*�����
�����6$;6> �������#��
����2"6�$	��	2"�8��(�$������3�8��8�����3	
��8�� (LnR) <���
��)8+��)� natural logarithm ����7��8��	�8���%�3��<�������"(���
3$F�G	 '���8��
�����6$;6>�	�8�
�$8��
3 0.2478 <���2"��������*�

��;63��=�(�8�������(�$��$���(�������6�<���+?( �8�����3	
��8����%�
�
�!���
�!$��
��"8�� ��6�� �
��(��"� 1 ���	2"$&�+�(�(�$�����+���������6�� �
��(��"� 0.2017 $	�
�
��&��
4$����6�6�$8��
3 0.5
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�
�
���� 5.15 ��������*�8��
�����6$;6> ���
�!���6���+�!33�&�"��$	�+?(+������������ 

�����
�+� ������2"6���*	 ��3�6�
$'��9�������*	$	� 2 �"
�������!�(=  
�#4�������
��
�;� ���
�!���6���+����
3�)� (�
� LnW) !"(� 

c LnQ LnR DL DL*LnQ DL*LnR 
��*	$	� 2 LnS  =  α0+α1LnQ+ β1LnR + γ1DL*LnQ+  V 

Coefficient -0.7219 1.2018 0.2642 - 0.0086 - 
S.E. 0.8725 0.0793 0.0537 - 0.0109 - 
Prob 0.4115 0.000* 0.000* - 0.4285 - 

$	���: �������&���* 
R2 =0.9999, Dependent Variable: LnS 
*�	���
3�
��&��
4$����6�6$	�0.05 

2"��������+���*	9�����;���6���*	$	� 2 ����B�
������$	� 5.15 <����������;63��
=�(�
��	
�������8�!�����������
���� ����

����6���*�=�(��� �8��
�����6$;6>����8��2"2"6��
3
�(�$����� (LnS/LnQ) <�����)8+��)� natural logarithm <��������������*�8� ���8�!�"D�$	�=�(�	�8���%�
3�� !"��	�8��$8��
3 1.2018  !����8���6� diseconomies of scale <����������;63���8��
��8�����
��6�� �
� ��2"2"6��(����8��
��8�������6�� �
� ���(�$�����$	����
3�
��&��
4$����6�6�$8��
3 0.05 
������6���*�����
�����6$;6> �������#��
����2"6�$	��	2"�8��(�$������3�8��8�����3	
��8�� (LnR) <���
��)8+��)� natural logarithm ����7��8��	�8���%�3��<�������"(���
3$F�G	 '���8��
�����6$;6>�	�8�
�$8��
3 0.2642 <���2"��������*�

��;63��=�(�8�������(�$��$���(�������6�<���+?( �8�����3	
��8����%�
�
�!���
�!$��
��"8�� ��6�� �
��(��"� 1 ���	2"$&�+�(�(�$�����+���������6�� �
��(��"� 0.2642 $	�
�
��&��
4$����6�6�$8��
3 0.5 �&���
3�����
3�����8� dummy variable �

�=�8�	�
��&��
4$����6�6$	� 0.5 
=�8�������;63��2"=�( 
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�
�
���� 5.16 ��������*�8��
�����6$;6> ���
�!���6���+�!33�&�"��$	�+?(+������������ 

�����
�+� ������2"6���*	 ��3�6�
$'��9�������*	$	� 3 �"
�������!�(=  
�#4�������
��
�;� ���
�!���6���+����
3�)� (�
� LnW) !"(� 

c LnQ LnR DL DL*LnQ DL*LnR 
��*	$	� 3 LnS  =  α0+α1LnQ+ β1LnR + γ0DL+ γ1DL*LnQ +  V 

Coefficient -1.7667 1.1833 0.1409 -1.0320 0.0548 - 
S.E. 1.0141 0.0798 0.0692 1.9290 0.1216 - 
Prob 0.0871 0.000* 0.046* 0.5948 0.6538 - 

$	���: �������&���* 
R2 =0.9994, Dependent Variable: LnS 
*�	���
3�
��&��
4$����6�6$	�0.05 

2"��������+���*	9�����;���6���*	$	� 3 ����B�
������$	� 5.16 <����������;63��
=�(�
��	
�������8�!�����������
���� ����

����6���*�=�(��� �8��
�����6$;6>����8��2"2"6��
3
�(�$����� (LnS/LnQ) <�����)8+��)� natural logarithm <��������������*�8� ���8�!�"D�$	�=�(�	�8���%�
3�� !"��	�8��$8��
3 1.1833  !����8���6� diseconomies of scale <����������;63���8��
��8�����
��6�� �
� ��2"2"6��(����8��
��8�������6�� �
� ���(�$�����$	����
3�
��&��
4$����6�6�$8��
3 0.05 
������6���*�����
�����6$;6> �������#��
����2"6�$	��	2"�8��(�$������3�8��8�����3	
��8�� (LnR) <���
��)8+��)� natural logarithm ����7��8��	�8���%�3��<�������"(���
3$F�G	 '���8��
�����6$;6>�	�8�
�$8��
3 0.1409 <���2"��������*�

��;63��=�(�8�������(�$��$���(�������6�<���+?( �8�����3	
��8����%�
�
�!���
�!$��
��"8�� ��6�� �
��(��"� 1 ���	2"$&�+�(�(�$�����+���������6�� �
��(��"� 0.1409 $	�
�
��&��
4$����6�6�$8��
3 0.5 �&���
3�����
3�����8� dummy variable �

�=�8�	�
��&��
4$����6�6$	� 0.5 
=�8�������;63��2"=�( 
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�
�
���� 5.17 ��������*�8��
�����6$;6> ���
�!���6���+�!33�&�"��$	�+?(+������������ 

�����
�+� ������2"6���*	 ��3�6�
$'��9�������*	$	� 4 �"
�������!�(=  
�#4�������
��
�;� ���
�!���6���+����
3�)� (�
� LnW) !"(� 

c LnQ LnR DL DL*LnQ DL*LnR 
��*	$	� 4 LnS  =  α0+α1LnQ+ β1LnR + γ0DL+ γ1DL*LnR +  V 

Coefficient -0.7538 1.0106 0.0004 1.8239 - 0.1791 
S.E. 0.9279 0.0587 0.0863 0.9069 - 0.0868 
Prob 0.4201 0.000* 0.9957 0.0592 - 0.0539 

$	���: �������&���* 
R2 =0.6617, Dependent Variable: LnS 
*�	���
3�
��&��
4$����6�6$	�0.05 

2"��������+���*	9�����;���6���*	$	� 4 ����B�
������$	� 5.17 <����������;63��
=�(�
��	
�������8�!�����������
���� ����

����6���*�=�(��� �8��
�����6$;6>����8��2"2"6��
3
�(�$����� (LnS/LnQ) <�����)8+��)� natural logarithm <��������������*�8� ���8�!�"D�$	�=�(�	�8���%�
3�� !"��	�8��$8��
3 1.0106 !����8���6� diseconomies of scale <����������;63���8��
��8�����
��6�� �
� ��2"2"6��(����8��
��8�������6�� �
� ���(�$�����$	����
3�
��&��
4$����6�6�$8��
3 0.05 
������6���*�����
�����6$;6> �������#��
����2"6�$	��	2"�8��(�$������3�8��8�����3	
��8�� (LnR) <���
��)8+��)� natural logarithm !"������
3�����8� dummy variable �

�=�8�	�
��&��
4$����6�6$	� 0.5 =�8
�������;63��2"=�( 
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�
�
���� 5.18 ��������*�8��
�����6$;6> ���
�!���6���+�!33�&�"��$	�+?(+������������ 

�����
�+� ������2"6���*	 ��3�6�
$'��9�������*	$	� 5 �"
�������!�(=  
�#4�������
��
�;� ���
�!���6���+����
3�)� (�
� LnW) !"(� 

c LnQ LnR DL DL*LnQ DL*LnR 
��*	$	� 5 LnS  =  α0+α1LnQ+ β1LnR + γ1DL*LnQ+ γ2DL*LnR +  V 

Coefficient 0.0462 0.9491 0.0067 - 0.1640 -0.2125 
S.E. 0.1523 0.0718 0.0986 - 0.0741 0.1023 
Prob 0.7627 0.000* 0.9453 - 0.031* 0.0524 

$	���: �������&���* 
R2 =0.6584, Dependent Variable: LnS 
*�	���
3�
��&��
4$����6�6$	�0.05 

2"��������+���*	9�����;���6���*	$	� 5 ����B�
������$	� 5.18 <����������;63��
=�(�
��	
�������8�!�����������
���� ����

����6���*�=�(��� �8��
�����6$;6>����8��2"2"6��
3
�(�$����� (LnS/LnQ) <�����)8+��)� natural logarithm <��������������*�8� ���8�!�"D�$	�=�(�	�8���%�
3�� !"��	�8��$8��
3 0.9491 �
�!��������������
���� �����6� �
�$

��	
������	�8��(����8� 1 �
��

�
�����3�6�
$ ����"7�$&������6�� ������2"6�������� �� �
��	��(��"� 1 ���	2"$&�+�(�(�$�����
��6�� �
���	���(��"� 0.9491 <����(����8� 1 $	����
3�
��&��
4$����6�6�$8��
3 0.05  �&���
3�8� ��3�6�
$
+�48$	��&�����8� DL=1 ���;63��=�(�8��8��
�����6$;6>����8��2"2"6��
3�(�$����� (LnS/LnQ) <�����)8
+��)� natural logarithm <��������������*�8� ���8�!�"D�$	�=�(�	�8���%�3�� !"��	�8��$8��
3 0.9491 
+ 0.1640 = 1.1131 !����8���6� diseconomies of scale <����������;63���8��
��8�������6�� �
� ��
2"2"6��(����8��
��8�������6�� �
� ���(�$�����$	����
3�
��&��
4$����6�6�$8��
3 0.05 �����
3����
�8� dummy variable  ���(�$��$���(�������6��

�=�8�	�
��&��
4$����6�6$	� 0.5 =�8�������;63��
2"=�( 
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�
�
���� 5.19 ��������*�8��
�����6$;6> ���
�!���6���+�!33�&�"��$	�+?(+������������ 

�����
�+� ������2"6���*	 ��3�6�
$'��9�������*	$	� 6 �"
�������!�(=  
�#4�������
��
�;� ���
�!���6���+����
3�)� (�
� LnW) !"(� 

c LnQ LnR DL DL*LnQ DL*LnR 
��*	$	� 6 LnS  =  α0+α1LnQ+ β1LnR +γ0DL+ γ1DL*LnQ+ γ2DL*LnR +  V 

Coefficient -0.0590 0.9478 0.0181 0.1738 0.1595 -0.2226 
S.E. 1.1009 0.0868 0.1096 1.1312 0.0954 0.1148 
Prob 0.9574 0.000* 0.8694 0.8785 0.1003 0.0576 

$	���: �������&���* 
R2 =0.6649, Dependent Variable: LnS 
*�	���
3�
��&��
4$����6�6$	�0.05 

2"��������+���*	9�����;���6���*	$	� 6 ����B�
������$	� 5.19 <����������;63��
=�(�
��	
�������8�!�����������
���� ����

����6���*�=�(��� �8��
�����6$;6>����8��2"2"6��
3
�(�$����� (LnS/LnQ) <�����)8+��)� natural logarithm <��������������*�8� ���8�!�"D�$	�=�(�	�8���%�
3�� !"��	�8��$8��
3 0.9478 �
�!��������������
���� �����6� �
�$
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������	�8��(����8� 1 �
��

�
�����3�6�
$ ����"7�$&������6�� ������2"6�������� �� �
��	��(��"� 1 ���	2"$&�+�(�(�$�����
��6�� �
���	���(��"� 0.6712 <����(����8� 1 $	����
3�
��&��
4$����6�6�$8��
3 0.05  ������6���*����
�
�����6$;6> �������#��
����2"6�$	��	2"�8��(�$������3�8��8�����3	
��8�� (LnR) <�����)8+��)� 
natural logarithm !"������
3�����8� dummy variable �
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���2"��������$	�=�($&����$���3��$

����=�($&����!�(= �#4���8��$	�����8��8���

��6� �
� =�(!�8 ���$���3�#4�� Autocorrelation '�����+?(�8� Durbin-Watson statistic $	�=�(������
�6�������'������$	�3�8�$	�=�(�
3����� Durbin Watson  $���3�#4�� Heteroscedasticity '�����
�6���*� White Test $	����
3�
��&��
4$����6�6�$8��
3 0.10 !"����$���3�#4�������
��
�;� ���
�
!���6���+����
3�)� '�����+?(�8� Correlation Matrix +����$���3 <���2"�8�� M $	�=�(������
$���3�	����2
�!���
�=�������!�(=  �&���
32"��������+���*	�
�=�8=�(!�(= �#4��+�M �

� 
(����� 5.1- ����� 5.8) ���$���3�3���=�8��6��
��&��
4$����6�6��)8'�����'���O����
�!��$	�
!����#��
�$	��&������������
���� ��� $

�����
�!�����=�������+?(�
�!����8�?8���8��+����
�6���*��7����7=�8�3�
��&��
4$����6�6�$8�$	���� �
��

����$&����$���3$���6;	�������E�6�6���=�(
�)��&���$���3�����+�(2"����"(��!"�!�(= ���$F�G	�
�$	��"8���� (���(�

2"���������"
�������!�(= �#4�� Heteroscedasticity !"(��

� (����� 5.9- ����� 
5.11) ��6��
��&��
4$����6�6$	� 0.05 ��8����7�=�(?
�!"��������;63��2"=�(�	 �
� �"8�����3�6�
$��6�
��������
���� ���!"���*	9�����$

�����������'�����+?(�
�!����8�?8��+�����6���*��7
������;63����������=�( �	�$

�2"���$���3�#��
�$	��&������������
���� ����7�������&�
2"���;63��=�(��8���	�
��&��
4$����6�6$	� 0.05 !�8$

��	
����6���*�!�(= �#4�� Heteroscedasticity 
�

����$&�$	����
3�)� �
� (��&���8����
3 0.05��%��(�=� �?8� $	����
3 0.01) ���3���!�(= �#4��+���*	
$	� 4 ��*	$	� 5 !"���*	$	� 6 <���2"�������� �����+?(�
�!����8�����6�����;63��=�(�	�6�� �
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�!���6���+����
3�)�
'������6���*�����8� Correlation Matrix �
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4$����6�6$	����
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